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FiB y(x) + dy(x) 1€ y(x) B “fHiE”, FRAEEATINZE Sy(z) (PR EHEy (2) B384 )i &
o |oy(z)| <€
o BIFIAEK |(6y) (7)) < e
RRRL- A BA H 1S

A LA R AR (B B S HE, S HZ B ER L &M BE, rE a0 & EUYE T [E
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[ug cos(n, x) + uy cos(n, y)]p =

:%_

21.6 ImH-BiEITE
BB EAE RN A, AT P EE T,
o — PR A N EAY MR FIES .
— ] LA e i R m A SR RIE F il ) 22 R G (FUR > B - JHNIBE
— AT LU 9% B SR B e L A A P R R
— WA DU ZE B 5 T 2 5 E AL T HE B
farawarsy

FEYEER) S A0 S, R OB BRSPS E 72 U B A, To— Bl #R T DL N % B iz
BARAE AR, 28 iR AIX R A, B EZ R EIe RO

o BOMERYE MR MR ERSERNE: EOvRER AP E RIS B T —Ffri RIEFBL %
SHERIEA B, AT DU SR S A BT (DARYE. AT L AR T 5 AR A AR RN (N 43X R (DL V2.
- 227k
FA i 1)- BL3E 5 0 AU SR AR AN AR (8 [P R A B -
o EJCIEAMEAE AL (12 BRI 2% AR (B R R

o RIGUH/INEEHIVE, FARAR R ORI B0 A % AR B TR AL 0 B R G B9 B 2 50 B R A AR
{E [
MWEREAER, Bk — 1 A RREOE N, — T E TR, — 75 S HE et - R
Bt SRAS A MEAE AT U (E.

FTETHE, AhZE— ERETEER 5T
Example 21.12 KARAEAE 5] AR
1d
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Solution X PMAME(EREIERTE ST, BN Tz K

1
1y = / vy da (59)

TEIN T 451 (58b) R R &5 X
Il[y]z/o ry’dr =1 (60)

RIS AR AE A L
IR A B - B 2 0712 SR AL SR A 112 BN ) S AR AR AE R ]
AAE BB T 08 R RS (58b) 2 4k, B R% B A T, Fitk, 7T AT 2R FEIE R it
yn(x) = a1(1 — acz) + ag(l — m2)2 + ag(l — x2)3
+otan(l-2%)", n=123,-- (61)

XS] DURIEE UARAE = = 0 AN “RA7, B2 fH

(&)..."

BORIREREL yo (), BIFE(61) FECETAT I, fCATZ B AT AT, 15

1
4 2
I[Z/Q]:/ xyézdx:aergalaZJrgag, (62)
0
I[]—/1 2de = 22+ +12 1 (63)
1Y2] = ; T Yy dr = 6a1 4a1a2 10 .

XA VR AE on A ap B TC BB AR B (], 0 LS

6(16%.4?1'1) :20él + %O&Q - )\(éal + iag) :0, (64)
8(16%:\[1) = gag + %Oq — )\(%ag + ial) =0. (65)
X GER T o Moo FIRBUTIEA, BAEZMRIFT L BRI Z
g A A2
£ %4 a0 (66)
3 4 3 5
R
307 — 128\ + 640 = 0. (67)
B2 s 6 8
A=k g\/371. (68)
XA BB RNRINRAE. R/ NARE(E R UE
A= %—g 34 =5.7841- -, (69)
EAEHE

A1 = (2.4048---)° = 5.7831 - -
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HIRERHRZEAREN2 x 1074, FIRM, AMEREH DI LR 2

71 (z) =a (1 —2%) + as(1 - 132)27 (70a)

ay; =21/12 — 331/2/17 = 1.6505676 - - - , (70b)
ay =1/80 — 2301/2/17 = 1.0538742- - - . (70¢c)

T SRR

y1(x) = 3 Jo (paz)

A= / y1 (z xdx

—2—2/0 y1(z) g1 (z)zde

4+/2 82/ 8
=201— |agj— +ag—e ( — — 1
{ [1;@ “d (u? )]}
=1.66 x 1075.

M T1E £ WU (61) 74 JUBCT B, AMEEFAE A EE A B M RERE, IX RO < A TRFAY. 7T LLAR
&, MREHTECE 2, SEIREXE .
HE— T LHEENE - IALE

TREELER, AT

- 4
A2 63 \/Z = 36.883- (71)

EAFEHE A = 30471 ZEANRETET20% ! 8 T RIGREGHEHIANE — DATEE, 7T LI hE T Bk
FHISEL, X DT R BRI KO U

FESERI AR, AR I IEE KA — DT B A AR B R, BRI A A9 B 5% AR A TR R 22 1) R T
PR — AL 3 B RRAOIZ B8 46 AR W B e P O b — A [ S e

1
/O y(@) 1 () zdz = 0 (72)
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FORFE S AEE, %A AL,
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